

#### Pay Estimate Created Date: December 16, 2020

Progress Estin 13		Contract ID Prime Contractor	191115-H04 Apex Paving Co.	Pay Period Start Pay Period End	November 16, 2020 December 15, 2020							
Approval Date							By User					
December 16, 2020			Generated and A	pproved (and should	l be considered Draft)	at the Project Office Level by	camdel1					
December 16, 2020		Re	viewed and Approv	ved (and should be c	considered Draft) at the	e Resident Engineer Level by	wilkem1					
December 17, 2020			R	eviewed and Approv	ved at the Central Official	ce Controllers Office Level by	greggd1					
Original Comp	letion Date	Current Comp	oletion Date	Actual Complet	tion Date	% of Current Contract Amour	nt Complete					
November	1, 2020	November	1, 2020	August 18, 2	2020	100.00%						
No Milestones Exist	for Contract											

Contract Tot	al Pay For	Estimate No	o. 13							
				This Estimate	Previous			To Date		
191115-H04		Total Posted Gross Item A Incentive Disincentive Liquidated D Other Contra	djustments	\$16,574.88 \$867.67 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$867.67 (\$126,880.35) (\$126,012.68)   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00   \$0.00 \$0.00 \$0.00					
Contract Tot	al Payable	This Estima	ate:	\$17,442.55						
tems Paid Th	is Estimat	<u>e Period</u>								
Project Number	Line Number	Item Code		Item Description	n	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
J9S3360	0230	4071005	TACK COAT			GAL	\$2.170	-968	(\$2,100.56)	
Project J9S	3360 - Tota	al							(\$2,100.56)	
J9S3362	0410	3049910	MISC.Permaner	t Aggregate Edge Treatme	ent	TONS	\$24.900	38.8	\$966.12	
Project J9S	3362 - Tota	al							\$966.12	
J9S3398	0680	6206000C	4 IN. WHITE ST PAINT, TYPE P	ANDARD WATERBORNE BEADS	PAVEMENT MARKING	LF	\$0.100	45,292	\$4,529.20	
	0690	6206001C	4 IN. YELLOW S PAINT, TYPE P		IE PAVEMENT MARKING	LF	\$0.090	19,971	\$1,797.39	
Project J9S	3398 - Tota	al							\$6,326.59	
J9S3420	0760	4071005	TACK COAT			GAL	\$2.170	-592	(\$1,284.64)	
Project J9S	3420 - Tota	al							(\$1,284.64)	
J9S3437	1110	3049910	MISC.PERMAN	ENT AGGREGATE EDGE	TREATMENT	TONS	\$36.920	-0.3	(\$11.08)	
	1210	6206000C	4 IN. WHITE ST PAINT, TYPE P	ANDARD WATERBORNE BEADS	PAVEMENT MARKING	LF	\$0.100	94,153	\$9,415.30	
	1220	6206001C	4 IN. YELLOW S PAINT, TYPE P		IE PAVEMENT MARKING	LF	\$0.100	32,631.5	\$3,263.15	
Project J9S	<mark>3437 - Tota</mark>	al							\$12,667.37	
Overall - To	tal								\$16,574.88	

### Contract Adjustments This Estimate

#### No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

	rajaoti	nento mio Estinute						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3398	0680	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	Retroreflectivity Adjustment	Retro - Reflectivity Adjustment for Route WW in Stoddard County			\$246.47
	0690	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT	Other Item Adjustment	Retroreflectivity Adjustment	Retro - Reflectivity Adjustment for Route WW in Stoddard County			\$115.36



### Pay Estimate Created Date: December 16, 2020

Progr		timate Number 13	Contract II Prime Con			Pay Period StartNovember 16, 2020Pay Period EndDecember 15, 2020	Net Char	Contract Amo ige Order Amo Contract Amo	nount (\$20	82,995.38 ,351.52) 62,643.86
Project Number	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type	Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3398		MARKING PAI	NT, TYPE P BEADS							
J9S3437	1210	4 IN. WHITE S WATERBORNE F MARKING PAII	PAVEMENT	Other Item Adjustment	Retroreflectivit Adjustment	y Retro - Reflectivity Adjustment H/Dunklin County in Stodda				\$628.85
	1220	4 IN. YELLOW S WATERBORNE F MARKING PAIL	PAVEMENT	Other Item Adjustment	Retroreflectivit Adjustment	y Retro - Reflectivity Adjustment H/Dunklin County in Stodda				(\$123.01)
Total										\$867.67



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work
J9S3346	FAS S702(75)	Resurface	F	STODDARD	from Route J to Route 60
J9S3360	FAS S702(72)	Resurface	CC	BUTLER	from Route 51 to Route 53
J9S3362	FAS S702(73)	Resurface	JJ	BUTLER	from end of maintenance to Route 67
J9S3398	FAS S702(77)	Resurface	WW	STODDARD	from Route J to Route 60
J9S3420	FAS S702(80)	Resurface	A	RIPLEY	from Route 21 to Arkansas State line
J9S3421	FAS S702(81)	Resurface	Е	RIPLEY	from Route 142 to end of state maintenance
J9S3437	FAS S703(35)	Resurface	Н	STODDARD	from Route 25 to Route J

### Totals by Job Numbers

J9S3346		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$428,830.07	\$428,830.07
	Gross Item Adjustments	\$0.00	(\$13,929.82)	(\$13,929.82)
	Gross Item Pay	\$0.00	\$414,900.25	\$414,900.25
	Gross Rent ruy	<b>\$0.00</b>	Q414,000.20	\$414,000.20
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	-		·	
J9S3360		This Estimate	Previous	To Date
	Posted Item Pay	(\$2,100.56)	\$747,293.77	\$745,193.21
	Gross Item Adjustments	\$0.00	(\$24,401.58)	(\$24,401.58)
	Gross Item Pay	(\$2,100.56)	\$722,892.19	\$720,791.63
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	other contract Aujustments	φ0.00	φ0.00	φ0.00
J9S3362		This Estimate	Previous	To Date
	Posted Item Pay	\$966.12	\$197,601.24	\$198,567.36
	Gross Item Adjustments	\$0.00	(\$5,071.32)	(\$5,071.32)
	Gross Item Pay	\$966.12	\$192,529.92	\$193,496.04
			+.01,010.01	¢100,100101
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
1000000				
J9S3398		This Estimate	Previous	To Date
J9S3398	Posted Item Pay	\$6,326.59	\$530,448.65	\$536,775.24
J9S3398	Gross Item Adjustments	\$6,326.59 \$361.83	\$530,448.65 (\$17,929.92)	\$536,775.24 (\$17,568.09)
J9S3398		\$6,326.59	\$530,448.65	\$536,775.24
J9S3398	Gross Item Adjustments Gross Item Pay	\$6,326.59 \$361.83 <b>\$6,688.42</b>	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b>	\$536,775.24 (\$17,568.09) <b>\$519,207.15</b>
J9S3398	Gross Item Adjustments Gross Item Pay	\$6,326.59 \$361.83 <b>\$6,688.42</b> \$0.00	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b> \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00
J9S3398	Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$6,326.59 \$361.83 <b>\$6,688.42</b> \$0.00 \$0.00	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b> \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00
J9S3398	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages	\$6,326.59 \$361.83 <b>\$6,688.42</b> \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b> \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$6,326.59 \$361.83 <b>\$6,688.42</b> \$0.00 \$0.00	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b> \$0.00 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00
J9S3398 J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 <b>\$6,688.42</b> \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b> \$0.00 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64)	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 <b>Previous</b> \$574,800.47	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 <b>\$6,688.42</b> \$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b> <b>This Estimate</b>	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 <b>Previous</b>	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b>
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64)	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 <b>Previous</b> \$574,800.47	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>\$0.00</b> <b>To Date</b> \$573,515.83
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64)	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$70.00 \$574,800.47 (\$16,482.82) \$558,317.65	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01
	Gross Item Adjustments Gross Item Pay Incentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay	\$6,326.59 \$361.83 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$554,800.47 (\$16,482.82) \$558,317.65 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.00 \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>This Estimate</b> (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00 \$0.00 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>TO Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00 \$0.00 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$554,800.47 (\$16,482.82) \$558,317.65 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1.00 \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00 \$0.00
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) <b>\$512,518.73</b> \$0.00 \$0.00 \$0.00 \$0.00 <b>Previous</b> \$574,800.47 (\$16,482.82) <b>\$558,317.65</b> \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>This Estimate</b> (\$1,284.64) \$0.00 <b>(\$1,284.64)</b> \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>TO Date</b> \$573,515.83 (\$16,462.82) \$557,033.01 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>TO Date</b>
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$3.00 <b>Previous</b> \$368,058.65	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482,82) \$557,033.01 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$368,058.65
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$3.00 <b>Previous</b> \$368,058.65	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$368,058.65
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Disincentive Liquidated Damages Other Contract Adjustments	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Fosted Item Pay Gross Item Adjustments Gross Item Pay Incentive Liquidated Damages Other Contract Adjustments Fosted Item Pay Gross Item Adjustments Gross Item Pay Gross Item Pay Gross Item Pay Gross Item Pay Gross Item Pay	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.000 \$0.000 \$0.000\$000 \$0.000\$000\$	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.000\$00 \$0.000\$000\$
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Posted Item Pay Gross Item Adjustments Gross Item Pay Incentive	\$6,326.59 \$361.83 \$6,688.42 \$0.00 \$0.00 \$0.00 \$0.00 This Estimate (\$1,284.64) \$0.00 (\$1,284.64) \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.000\$00 \$0.000\$000\$
J9S3420	Gross Item Adjustments Gross Item Pay Incentive Disincentive Liquidated Damages Other Contract Adjustments Fosted Item Pay Gross Item Adjustments Gross Item Pay Incentive Liquidated Damages Other Contract Adjustments Fosted Item Pay Gross Item Adjustments Gross Item Pay Gross Item Pay Gross Item Pay Gross Item Pay Gross Item Pay	\$6,326.59 \$361.83 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 <b>This Estimate</b> (\$1,284.64) \$0.00 (\$1,284.64) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$530,448.65 (\$17,929.92) \$512,518.73 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$574,800.47 (\$16,482.82) \$558,317.65 \$0.00	\$536,775.24 (\$17,568.09) \$519,207.15 \$0.00 \$0.00 \$0.00 \$0.00 <b>To Date</b> \$573,515.83 (\$16,482.82) \$557,033.01 \$0.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

### Totals by Job Numbers

J9S3437		This Estimate	Previous	To Date
Posted	Item Pay	\$12,667.37	\$1,099,024.92	\$1,111,692.29
Gross	Item Adjustments	\$505.84	(\$36,006.75)	(\$35,500.91)
	Gross Item Pay	\$13,173.21	\$1,063,018.17	\$1,076,191.38
Incenti	ve	\$0.00	\$0.00	\$0.00
Disince	entive	\$0.00	\$0.00	\$0.00
Liquida	ated Damages	\$0.00	\$0.00	\$0.00
Other C	Contract Adjustments	\$0.00	\$0.00	\$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

e: Posted Q	uantities	and Valu	es are t	pased on R	eport Generated date and can differ from the posted ame	punt at the	ime the E	stimate was	Genera	ted.		
Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1115-H04	J9S3346	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$584.70	\$584.70
		0001	0020	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,190.00	79.00	1,269.00	TONS	1,269.00	\$33.04	\$41,927.76
		0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	14.00	0.00	14.00	TONS	14.00	\$17.50	\$245.00
		0001	0040	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	5,517.60	88.40	5,606.00	TONS	5,606.00	\$56.01	\$313,992.06
		0001	0050	4071005	TACK COAT	6,360.00	-1,908.00	4,452.00	GAL	4,452.00	\$2.17	\$9,660.84
		0001	0060	4134000	BITUMINOUS FOG SEAL	3,879.00	-1,579.00	2,300.00	GAL	2,300.00	\$3.33	\$7,659.00
		0001	0070	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0080	6161005	CONSTRUCTION SIGNS	1,355.00	-368.00	987.00	SQFT	987.00	\$6.00	\$5,922.00
		0001	0090	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	60.00	-60.00	0.00	EA	0.00	\$10.00	\$0.00
		0001	0110	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$25,187.70	\$25,187.70
		0001	0120	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	69,622.00	0.00	69,622.00	LF	69,622.00	\$0.11	\$7,658.42
					PAINT, TYPE P BEADS							
		0001	0130	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	27,392.00	0.00	27,392.00	LF	27,392.00	\$0.10	\$2,739.20
		0001	0140	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	581.00	0.00	581.00	SQYD	581.00	\$4.84	\$2,812.04
		0001	0150	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,009.00	0.00	1,009.00	SQYD	1,009.00	\$8.37	\$8,445.33
		0040	0160	9031270A	2 IN. PSST POST - 12 GA.	48.00	0.00	48.00	LF	48.00	\$7.00	\$336.00
		0040	0170	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	36.00	0.00	36.00	LF	36.00	\$12.00	\$432.00
		0040	0180	9035069A	SHF-FLAT SHEET FLUORESCENT	36.00	0.00	36.00	SQFT	36.00	\$18.00	\$648.00
	Project J	9S3346 - To	otal Value	e Posted to D	ate as of Report Generated Date							\$428,830.05
	J9S3360	0001	0190	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,650.00	\$2,650.00
		0001	0200	3049910	MISC.Permanent Aggregate Edge Treatment	1,918.80	-200.80	1,718.00	TONS	1,718.00	\$32.02	\$55,010.36
		0001	0210	3105002	GRAVEL (A) OR CRUSHED STONE (B)	58.00	0.00	58.00	TONS	58.00	\$16.60	\$962.80
		0001	0225	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	9,302.90	148.60	9,451.50	TONS	9,451.50	\$60.19	\$568,885.78
		0001	0230	4071005	TACK COAT	10,644.00	-1,641.00	9,003.00	GAL	9,003.00	\$2.17	\$19,536.51
		0001	0240	4134000	BITUMINOUS FOG SEAL	6,254.00	-3,254.00	3,000.00	GAL	3,000.00	\$3.40	\$10,200.00
		0001	0250	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0260	6161005	CONSTRUCTION SIGNS	1,115.00	24.00	1,139.00	SQFT	1,139.00	\$6.00	\$6,834.00
		0001	0270	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.00
		0001	0280	6161025	CHANNELIZER (TRIM LINE)	57.00	-57.00	0.00	EA	0.00	\$10.00	\$0.00
		0001	0290	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$20,346.36	\$20,346.36
		0001	0300	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	112,992.00	0.00	112,992.00	LF	112,992.00	\$0.11	\$12,429.12
		0001	0310	6206001C	PAINT, TYPE P BEADS 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	46,856.00	0.00	46,856.00	LF	46,856.00	\$0.09	\$4,217.04
		0001	0320	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF	569.00	0.00	569.00	SQYD	569.00	\$4.56	\$2,594.64
		0001	0330	6224010	SURFACING (3 IN. THICK OR LESS) MODIFIED COLDMILLING (DEPTH TRANSITIONS)	787.00	444.00	1,231.00	SQYD	1,231.00	\$9.89	\$12,174.59
		0010	0340	6061060	MGS GUARDRAIL	150.00	0.00	150.00	LF	150.00	\$24.00	\$3,600.00
		0010	0350	6061068	MGS BRIDGE APPROACH TRANSITION SECTION (EXTENDED	4.00	0.00	4.00	EA	4.00	\$2,990.00	\$11,960.00
		0010	0360	6063014	CURB) TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,900.00	\$11,600.00
		0040	0370	9031270A		76.00	0.00	76.00	LF	76.00	\$7.00	\$532.00
		0040	0380	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	36.00	0.00	36.00	LF	36.00	\$12.00	\$432.00
		0040	0390	9035069A	SHF-FLAT SHEET FLUORESCENT	36.00	0.00	36.00	SQFT	36.00	\$18.00	\$648.00
	Project J	9S3360 - To	otal Value	e Posted to D	ate as of Report Generated Date							\$745,193.20
	J9S3362	0001	0400	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$1,169.40	\$1,169.40
		0001	0410	3049910	MISC.Permanent Aggregate Edge Treatment	569.20	38.80	608.00	TONS	608.00	\$24.90	\$15,139.20
		0001	0420	3105002	GRAVEL (A) OR CRUSHED STONE (B)	8.00	0.00	8.00	TONS	8.00	\$11.90	\$95.20
		0001	0430	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,447.00	26.80	2,473.80	TONS	2,473.80	\$55.67	\$137,716.45
sion 4/1/201					LLVLLING							Page 6 of

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted amo	ount at the t	ime the E	stimate was	Genera	ted.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191115-H04	J9S3362	0001	0440	4071005	TACK COAT	3,051.00	47.00	3,098.00	GAL	3,098.00	\$2.17	\$6,722.66
		0001	0450	4134000	BITUMINOUS FOG SEAL	1,855.00	0.00	1,855.00	GAL	1,855.00	\$3.38	\$6,269.90
		0001	0460	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0470	6161005	CONSTRUCTION SIGNS	605.00	-2.00	603.00	SQFT	603.00	\$6.00	\$3,618.00
		0001	0480	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.00
		0001	0490	6161025	CHANNELIZER (TRIM LINE)	51.00	-51.00	0.00	EA	0.00	\$10.00	\$0.00
		0001	0500	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$9,884.66	\$9,884.66
		0001	0510	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	33,391.00	0.00	33,391.00	LF	33,391.00	\$0.10	\$3,339.10
		0001	0520	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	33,391.00	0.00	33,391.00	LF	33,391.00	\$0.10	\$3,339.10
		0001	0530	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	630.00	-271.00	359.00	SQYD	359.00	\$7.15	\$2,566.85
		0001	0540	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	156.00	0.00	156.00	SQYD	156.00	\$15.89	\$2,478.84
		0040	0550	9031270A	2 IN. PSST POST - 12 GA.	344.00	0.00	344.00	LF	344.00	\$7.00	\$2,408.00
		0040	0560	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	108.00	0.00	108.00	LF	108.00	\$12.00	\$1,296.00
		0040	0570	9035069A	SHF-FLAT SHEET FLUORESCENT	108.00	0.00	108.00	SQFT	108.00	\$18.00	\$1,944.00
	Project J	9S3362 - To	tal Value	Posted to D	ate as of Report Generated Date							\$198,567.36
	J9S3398	0001	0580	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,550.00	33.00	1,583.00	TONS	1,583.00	\$31.34	\$49,611.22
		0001	0590	3105002	GRAVEL (A) OR CRUSHED STONE (B)	12.00	0.00	12.00	TONS	12.00	\$17.02	\$204.24
		0001	0600	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,207.90	66.10	7,274.00	TONS	7,273.80	\$56.15	\$408,423.87
		0001	0610	4071005	TACK COAT	8,299.00	-1,814.00	6,485.00	GAL	6,485.00	\$2.17	\$14,072.45
		0001	0620	4134000	BITUMINOUS FOG SEAL	5,052.00	-2,652.00	2,400.00	GAL	2,400.00	\$3.51	\$8,424.00
		0001	0630	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0640	6161005	CONSTRUCTION SIGNS	1,422.00	-498.00	924.00	SQFT	924.00	\$6.00	\$5,544.00
		0001	0650	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.00
		0001	0660	6161025	CHANNELIZER (TRIM LINE)	78.00	-78.00	0.00	EA	0.00	\$10.00	\$0.00
		0001	0670	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$26,882.73	\$26,882.73
		0001	0680	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	90,584.00	0.00	90,584.00	LF	90,584.00	\$0.10	\$9,058.40
		0001	0690	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	39,942.00	0.00	39,942.00	LF	39,942.00	\$0.09	\$3,594.78
		0001	0700	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	325.00	0.00	325.00	SQYD	325.00	\$9.58	\$3,113.50
		0001	0710	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,201.00	0.00	1,201.00	SQYD	1,201.00	\$6.05	\$7,266.05
	Project J	9S3398 - To	tal Value	e Posted to D	ate as of Report Generated Date							\$536,775.24
	J9S3420	0001	0720	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$1,200.00	\$1,200.00
		0001	0730	2129900	MISC.Modified Shaping Slopes Class III	5.00	0.00	5.00	100F	5.00	\$1,200.00	\$6,000.00
		0001	0740	3105002	GRAVEL (A) OR CRUSHED STONE (B)	62.00	0.00	62.00	TONS	62.00	\$57.18	\$3,545.16
		0001	0750	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	5,991.70	30.60	6,022.30	TONS	6,022.30	\$63.15	\$380,308.24
		0001	0760	4071005	TACK COAT	7,528.00	-253.00	7,275.00	GAL	7,275.00	\$2.17	\$15,786.75
		0001	0770	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$250.00	\$500.00
		0001	0780	6161005	CONSTRUCTION SIGNS	1,906.00	-613.00	1,293.00	SQFT	1,293.00	\$6.00	\$7,758.00
		0001	0790	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	6.00	\$65.00	\$390.00
		0001	0800	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	6.00	\$20.00	\$120.00
		0001	0810	6161025	CHANNELIZER (TRIM LINE)	100.00	-79.00	21.00	EA	21.00	\$10.00	\$210.00
		0001	0820	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$5,250.00	\$5,250.00
		0001	0830	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$23,840.57	\$23,840.57
		0001	0840	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	1,538.00	-770.00	768.00	LF	768.00	\$1.50	\$1,152.00
		0001	0850	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	20.00	-4.00	16.00	LF	16.00	\$5.00	\$80.00
		0001	0860	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	83,340.00	0.00	83,340.00	LF	83,340.00	\$0.11	\$9,167.40



#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Nm. CONTRACT No. Code Code Code Code Code Code Posted Over </th <th>Jnit Price Total Value POS To Date (See re- generated data   \$0.10 \$7,25   \$2.00 \$2,58   \$8.50 \$5,62   \$12.68 \$5,62   \$12.51 \$4,69   \$3,100.00 \$11,20   \$7.00 \$11,12   \$12.00 \$577   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$33.977 \$36,47   \$3,367 \$7,34</th>	Jnit Price Total Value POS To Date (See re- generated data   \$0.10 \$7,25   \$2.00 \$2,58   \$8.50 \$5,62   \$12.68 \$5,62   \$12.51 \$4,69   \$3,100.00 \$11,20   \$7.00 \$11,12   \$12.00 \$577   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$33.977 \$36,47   \$3,367 \$7,34
19115-H04 No10 0670 620601C 4, IN, YELLOW STANDARD WATERBORNE PAVEMENT 72,552.00 0.00 72,552.00 LF <td>\$2.00 \$2.58   \$8.50 \$5.62   \$12.68 \$5.62   \$12.51 \$4.69   \$3,100.00 \$112,40   \$2.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,69 \$57   \$12,00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3,647 \$7,34</td>	\$2.00 \$2.58   \$8.50 \$5.62   \$12.68 \$5.62   \$12.51 \$4.69   \$3,100.00 \$112,40   \$2.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,69 \$57   \$12,00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3,647 \$7,34
No. <td>\$8.50 \$5,62   \$12.68 \$5,62   \$12.51 \$4,69   \$3,100.00 \$12,40   \$2,900.00 \$11,60   \$7,00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3,67 \$7,34</td>	\$8.50 \$5,62   \$12.68 \$5,62   \$12.51 \$4,69   \$3,100.00 \$12,40   \$2,900.00 \$11,60   \$7,00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3,67 \$7,34
Normal Super Network Normal Super Acting (3 IN. THICK OR LESS) Normal Super Acting (3 IN. Super Acting (3 IN. THICK OR LESS) Normal Super Acting (3 IN. Super Acting (3 IN. Super Acting (3 IN. Super Acti	\$12.68 \$5,62   \$12.51 \$4,69   \$3,100.00 \$12,40   \$2,900.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34
0001 0910 6269903 MISC.Transverse Rumble Strip 375.00 0.00 375.00 LF 375.00 160.00 100.00 <td>\$12.51 \$4,69   \$3,100.00 \$12,40   \$2,900.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3,67 \$7,34</td>	\$12.51 \$4,69   \$3,100.00 \$12,40   \$2,900.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3,67 \$7,34
No. <td>33,100.00 \$12,40   \$2,900.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$33,00   \$39.97 \$36,47   \$3,67 \$7,34</td>	33,100.00 \$12,40   \$2,900.00 \$11,60   \$7.00 \$11,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$33,00   \$39.97 \$36,47   \$3,67 \$7,34
No.0 <th< td=""><td>\$2,900.00 \$11,60   \$7.00 \$1,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34</td></th<>	\$2,900.00 \$11,60   \$7.00 \$1,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34
Normal Action Normal A	\$7.00 \$1,12   \$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34
Project JPS3420 Control	\$12.00 \$57   \$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34
No. <td>\$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34</td>	\$18.00 \$86   \$4,761.43 \$19,04   \$1.50 \$3,00   \$39.97 \$36,47   \$3.67 \$7,34
No. OPPO TO39902 MISC.END POST MODIFICATION A.00 A.00 A.00 EA A.00 SA   0001 5001 6205303 TEMPORARY REMOVABLE MARKING TAPE 4 IN, YELLOW 0.00 2,000.00 2,000.00 LF 2,000.00	\$4,761.43 \$19,04 \$1.50 \$3,00 \$39.97 \$36,47 \$3.67 \$7,34
No. Solid S	\$1.50 \$30,00 \$39.97 \$36,47 \$3.67 \$7,34
Project 953421 0349910 MISC.Permanent Aggregate Edge Treatment 0.00 912.55 912.55 70N 912.55   9001 5302 4134000 BITUMINOUS FOG SEAL 0.00 2,000.00 2,000.00 GAL 2,000.	\$39.97 \$36,47 \$3.67 \$7,34
Image: Note of the state of the st	\$3.67 \$7,34
Project J9S3420 - Total Value Posted to Date as of Report Generated Date   J9S3421 0001 0980 3105002 GRAVEL (A) OR CRUSHED STONE (B) 90.00 -18.00 72.00 TONS 72.00   0001 0990 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 5.090.20 -10.60 5.079.60 TONS 5.079.60   0001 1000 4071005 TACK COAT 6.432.00 -1,785.00 4.647.00 GAL 4.647.00	
J9S3421 0001 0980 3105002 GRAVEL (A) OR CRUSHED STONE (B) 90.00 -18.00 72.00 TONS 72.00   0001 0990 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 5,090.20 -10.60 5,079.60 TONS 5,079.60   0001 1000 4071005 TACK COAT TACK 6,432.00 -1,785.00 4,647.00 GAL 4,647.00 F	\$573.51
J9S3421 0001 0980 3105002 GRAVEL (A) OR CRUSHED STONE (B) 90.00 -18.00 72.00 TONS 72.00   0001 0990 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 5,090.20 -10.60 5,079.60 TONS 5,079.60   0001 1000 4071005 TACK COAT TACK 6,432.00 -1,785.00 4,647.00 GAL 4,647.00 F	
Instrument Instru	\$44.57 \$3,20
	\$61.39 \$311,83
0001 1010 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.00 2.00 EA 2.00 EA	\$2.17 \$10,08
	\$250.00 \$50
0001 1020 6161005 CONSTRUCTION SIGNS 922.00 -62.00 860.00 SQFT 860.00	\$6.00 \$5,16
0001 1030 6161009 FLAG ASSEMBLY 4.00 0.00 4.00 EA 4.00	\$20.00 \$8
0001 1040 6161025 CHANNELIZER (TRIM LINE) 100.00 -100.00 0.00 EA 0.00	\$10.00 \$
0001 1050 6181000 MOBILIZATION 1.00 0.00 1.00 LS 1.00 \$12	2,928.86 \$12,92
0001 1060 6206000C 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING 70,108.00 0.00 70,108.00 LF 70,108.00	\$0.11 \$7,71
0001 1070 6206001C 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT 61,716.00 0.00 61,716.00 LF 61,716.00	\$0.10 \$6,17
0001 1080 6221001 COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS) 793.00 0.00 793.00 SQYD 793.00	\$6.54 \$5,18
0001 1090 6224010 MODIFIED COLDMILLING (DEPTH TRANSITIONS) 314.00 0.00 314.00 SQYD 314.00	\$16.53 \$5,19
Project J9S3421 - Total Value Posted to Date as of Report Generated Date	\$368,05
J9S3437 0001 1100 2022010 REMOVAL OF IMPROVEMENTS 1.00 0.00 1.00 LS 1.00 S	\$584.70 \$58
0001 1110 3049910 MISC.PERMANENT AGGREGATE EDGE TREATMENT 3,180.10 -127.10 3,053.00 TONS 3,053.00	\$36.92 \$112,71
0001 1120 3105002 GRAVEL (A) OR CRUSHED STONE (B) 37.00 0.00 37.00 TONS 37.00	\$20.64 \$76
0001 1130 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 14,664.60 -57.40 14,607.20 TONS 14,607.20	\$56.83 \$830,12
0001 1140 4071005 TACK COAT 16,860.00 -4,663.00 12,197.00 GAL 12,197.00	\$2.17 \$26,46
0001 1150 4134000 BITUMINOUS FOG SEAL 10,365.00 -4,515.00 5,850.00 GAL 5,850.00	\$3.26 \$19,07
0001 1160 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA) 2.00 0.00 2.00 EA 2.00 EA	\$250.00 \$50
0001 1170 6161005 CONSTRUCTION SIGNS 2,198.00 -412.00 1,786.00 SQFT 1,786.00	\$6.00 \$10,71
0001 1180 6161009 FLAG ASSEMBLY 4.00 0.00 4.00 EA 4.00	\$20.00 \$8
0001 1190 6161025 CHANNELIZER (TRIM LINE) 30.00 -30.00 -30.00 EA 0.00	\$10.00 \$
0001 1200 6181000 MOBILIZATION 1.00 0.00 1.00 LS 1.00 \$59	\$9,519.06 \$59,51
0001 1210 6206000C 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING 188,306.00 0.00 188,306.00 LF 188,306.00	\$0.10 \$18,83
0001 1220 6206001C 4 IN. YELLOW STANDARD WATERBORNE PAVEMENT 65,263.00 0.00 65,263.00 LF 65,263.00	\$0.10 \$6,52
0001 1230 6221001 COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS) 858.00 0.00 858.00 SQYD 858.00	\$6.56 \$5,62
	\$6.56 \$5,62 \$9.67 \$16,55



Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191115-H04	J9S3437	0040	1260	9031271	POST ANCHOR FOR 2 IN. PSST - 12 GA.	78.00	0.00	78.00	LF	78.00	\$12.00	\$936.00
		0040	1270	9035069A	SHF-FLAT SHEET FLUORESCENT	90.00	0.00	90.00	SQFT	90.00	\$18.00	\$1,620.00
	Project J	9S3437 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,111,692.29
191115-H04 Ove	rall - Total	Value Post	ed to Dat	e as of Repo	ort Generated Date							\$3,962,632.63



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0230	4071005	TACK COAT	12/14/20	12/16/20	-968.00	GAL T	o Correct Pay for Route CC in Butler County for verpayment 6/25/20					
Project:	J9S3362											
Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0410	3049910	MISC. AGGREGATE FOR BASE	12/15/20	12/15/20	38.80	TONS	Route JJ in Butler County	0.0		3.162		
Project:	J9S3398											
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0680	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	12/15/20	12/15/20	45,292.00	) LF	Route WW in Stoddard County	0.002		8.639		
0690	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	12/15/20	12/15/20	19,971.00	) LF	Route WW in Stoddard County	0.002		8.639		
Project:	J9S3420											
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0760	4071005	TACK COAT	12/14/20	12/16/20	-592.00	GAL T	o Correct Pay for Route A in Ripley County	0.0		7.893		
Project:	J9S3437											
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station Log Mile		To Station/ Log Mile	Offset/ Distance	Comments
1110	3049910	MISC. AGGREGATE FOR BASE	12/15/20	12/15/20	-0.30	) TONS	6 For Rounding	0.01	6	17.756		
1210	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	12/15/20	12/15/20	94,153.00	) LF	Route H in Stoddard/Dunklin County	0.01	6	17.756		
		4 IN. YELLOW WATERBORNE PAVEMENT MARKING	12/15/20	12/15/20	32.631.50		Route H in Stoddard/Dunklin County	0.01	0	17.756		



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0020	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Overrun	Overrun	8	Aug 3, 2020	SYSTEM	(\$2,619.74)	
				8	Aug 3, 2020	SYSTEM	\$2,619.74	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user knighn1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$2,610.16)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				9	Aug 17, 2020	SYSTEM	\$2,610.16	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0020 -	Total						\$0.00	
0040	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Material		7	Jul 16, 2020	SYSTEM	(\$313,993.74)	
	LEVELING)			7	Jul 16, 2020	SYSTEM	\$313,993.74	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user knighn1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	7	Jul 16, 2020	knighn1	(\$13,818.86)	AC Adjustment Tabulations on file in eProjects.
				9	Aug 17, 2020	camdel1	\$0.07	AC Adjustment Tabulation on File in E-Projects Route F in Ripley County July 7 thru 9th
			ACAD - Total				(\$13,818.79)	
	Other Item Adjustment - Total						(\$13,818.79)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	7	Jul 16, 2020	SYSTEM	\$4,952.96	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) overridding Payment Estimate Exception 4 on the current Payment Estimate.
				7	Jul 16, 2020	SYSTEM	(\$4,952.96)	
				8	Aug 3, 2020	SYSTEM	(\$4,952.96)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				8	Aug 3, 2020	SYSTEM	\$4,952.96	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user knighn1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$4,951.28)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				9	Aug 17, 2020	SYSTEM	\$4,951.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user camdel1 overridding Paymen Estimate Exception 2 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0040 -	Total						(\$13,818.79)	
0120	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment		11	Nov 1, 2020	camdel1	(\$155.04)	Retro- Reflectivity Adjustment
			- Total				(\$155.04)	
	Other Item Adjustment - Total						(\$155.04)	
)120 -	Total						(\$155.04)	
0130	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment		11	Nov 1, 2020	camdel1	\$44.01	Retro- Reflectivity Adjustment
		- Total	Total			\$44.01		
	Other Item Adjustment - Total						\$44.01	
0130 -	Total						\$44.01	
0225	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Other Item Adjustment	ACAD	6	Jul 1, 2020	camdel1	(\$20,776.98)	Route CC in Butler County
	LEVELING)			7	Jul 16, 2020	knighn1	(\$3,624.60)	AC Adjustment Tabulations on file in eProjects.
			ACAD - Tot	al			(\$24,401.58)	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
)225	Other Item Adjustment - Total						(\$24,401.58)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	7	Jul 16, 2020	SYSTEM	(\$8,942.43)	
				7	Jul 16, 2020	SYSTEM	\$8,942.43	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user knighn1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
				8	Aug 3, 2020	SYSTEM	(\$8,942.43)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				8	Aug 3, 2020	SYSTEM	\$8,942.43	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user knighn1 overridding Paymen Estimate Exception 9 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$8,942.43)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				10	Oct 2, 2020	SYSTEM	\$8,942.43	Unit price based on averaged overrun adjustments for installed quantity or all previous payment estimates. Price Adjustments of ',60.19000 - 60.19000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
225	- Total						(\$24,401.58)	
0260	CONSTRUCTION SIGNS	Overrun	Overrun	8	Aug 3, 2020	SYSTEM	(\$142.56)	
				8	Aug 3, 2020	SYSTEM	\$142.56	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user knighn1 overridding Paymer Estimate Exception 7 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$142.56)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
			9	Aug 17, 2020	SYSTEM	(\$1.44)		
				9	Aug 17, 2020	SYSTEM	\$1.44	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user camdel1 overridding Payme Estimate Exception 7 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	\$142.56	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user camdel1 overridding Payme Estimate Exception 7 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
260 -	- Total						\$0.00	
330	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun	Overrun	5	Jun 16, 2020	SYSTEM	(\$8,437.16)	
				6	Jul 1, 2020	SYSTEM	\$4,049.96	Unit price based on averaged overrun adjustments for installed quantity o all previous payment estimates. Price Adjustments of ',9.89000 - 9.89000 'is applied (if non-zero).
				6	Jul 1, 2020	SYSTEM	(\$4,049.96)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user camdel1 overridding Payme Estimate Exception 4 on the current Payment Estimate.
				7	Jul 16, 2020	SYSTEM	\$4,049.96	Unit price based on averaged overrun adjustments for installed quantity of all previous payment estimates. Price Adjustments of ',9.89000 - 9.89000 'is applied (if non-zero).
				7	Jul 16, 2020	SYSTEM	(\$4,049.96)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user knighn1 overridding Paymen Estimate Exception 6 on the current Payment Estimate.
				8	Aug 3, 2020	SYSTEM	\$4,049.96	Unit price based on averaged overrun adjustments for installed quantity o all previous payment estimates. Price Adjustments of ',9.89000 - 9.89000 'is applied (if non-zero).
				8	Aug 3, 2020	SYSTEM	(\$4,049.96)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user knighn1 overridding Payme Estimate Exception 8 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	\$4,046.00	Unit price based on averaged overrun adjustments for installed quantity o all previous payment estimates. Price Adjustments of ',9.89000 - 9.89000 'is applied (if non-zero).
				10	Oct 2, 2020	SYSTEM	\$4,391.16	Unit price based on averaged overrun adjustments for installed quantity o all previous payment estimates. Price Adjustments of ',9.89000 - 9.89000 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LINE	Description	Туре	Adjustment Type	Number	Date	By	Amount	i velitariko
0340	MGS GUARDRAIL	Construction Stockpile		1	Jan 16, 2020	SYSTEM	\$1,563.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				7	Jul 16, 2020	SYSTEM	(\$1,563.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total					\$0.00		
0340 -	Total						\$0.00	
0350	MGS BRIDGE APPROACH TRANSITION SECTION	Construction Stockpile		1	Jan 16, 2020	SYSTEM	\$6,136.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(EXTENDED CURB)			7	Jul 16, 2020	SYSTEM	(\$6,136.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		- Total				\$0.00		
	Construction Stockpile - Total						\$0.00	
0350 -	Total						\$0.00	
0360	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	Jan 16, 2020	SYSTEM	\$6,040.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				7	Jul 16, 2020	SYSTEM	(\$6,040.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0360 -	Total						\$0.00	
0430	BITUMINOUS PAVEMENT	Material		4	Jun 1,	SYSTEM	(\$137,714.22)	
0400	MIXTURE PG64-22 (SURFACE LEVELING)	Material		4	2020 Jun 1,	SYSTEM	\$137,714.22	This adjustment offsets the original system-generated Overrun Payment
					2020		<b>*</b> · · · <b>,</b> · · · · · · · · · · · · · · · · · · ·	Estimate Item Adjustment (0003) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Adjustment	ACAD	4	Jun 1, 2020	camdel1	(\$5,071.21)	This deduction was from the Asphalt Price Adjustment from J9S3362
				9	Aug 17, 2020	camdel1	(\$0.11)	AC Adjustment Tabulation on File in E-Projects Route JJ in Butler County Laid June 1st
		al			(\$5,071.32)			
	Other Item Adjustment - Total						(\$5,071.32)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	4	Jun 1, 2020	SYSTEM	\$1,489.73	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 4 on the current Payment Estimate.
				4	Jun 1, 2020	SYSTEM	(\$1,489.73)	
				5	Jun 16, 2020	SYSTEM	(\$1,489.73)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				5	Jun 16, 2020	SYSTEM	\$1,489.73	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user knighn1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
	Overrun - Total							Estimate Exception of the current rayment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total		Overrun - To	otal			\$0.00 \$0.00	
0430 -			Overrun - T	otal			\$0.00	
<b>0430</b> - 0440		Material	Overrun - To	otal	Jun 1, 2020	SYSTEM		
	Total	Material	Overrun - T			SYSTEM	\$0.00 (\$5,071.32)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user camdel1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	Total	Material		4	2020 Jun 1,		\$0.00 (\$5,071.32) (\$6,722.66) \$6,722.66	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user camdel1 overridding Payment
	Total TACK COAT	Material	Overrun - Te	4	2020 Jun 1,		\$0.00 (\$5,071.32) (\$6,722.66) \$6,722.66 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user camdel1 overridding Payment
	Total			4	2020 Jun 1,		\$0.00 (\$5,071.32) (\$6,722.66) \$6,722.66	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user camdel1 overridding Payment Estimate Exception 2 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception
	Total TACK COAT Material - Total		- Total	4	2020 Jun 1, 2020 Jun 1,	SYSTEM	\$0.00 (\$5,071.32) (\$6,722.66) \$6,722.66 \$0.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user camdel1 overridding Payment Estimate Exception 2 on the current Payment Estimate.



		A.11	0.1	<b>-</b> .	0.1.1	0.1.1		
Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0440	TACK COAT	Overrun	Overrun	5	Jun 16, 2020	SYSTEM	\$101.99	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user knighn1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0440 -	Total						\$0.00	
0580		Overrun	Overrun	8	Aug 3, 2020	SYSTEM	(\$1,048.64)	
	TREATMENT			8	Aug 3, 2020	SYSTEM	\$1,048.64	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user knighn1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$1,034.22)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				9	Aug 17, 2020	SYSTEM	\$1,034.22	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user camdel1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0580 -	Total						\$0.00	
0600	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Material		7	Jul 16, 2020	SYSTEM		
	LEVELING)			7	Jul 16, 2020	SYSTEM	\$408,423.87	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user knighn1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				8	Aug 3, 2020	SYSTEM	(\$408,423.87)	
				8	Aug 3, 2020	SYSTEM	\$408,423.87	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user knighn1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	7	Jul 16, 2020	knighn1	(\$17,929.92)	AC Adjustment Tabulations on file in eProjects.
			ACAD - Total				(\$17,929.92)	
	Other Item Adjustment - Total						(\$17,929.92)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	7	Jul 16, 2020	SYSTEM	\$3,700.29	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) overridding Payment Estimate Exception 5 on the current Payment Estimate.
				7	Jul 16, 2020	SYSTEM	(\$3,700.29)	
				8	Aug 3, 2020	SYSTEM	(\$3,700.29)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				8	Aug 3, 2020	SYSTEM	\$3,700.29	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 5 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$3,700.29)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				9	Aug 17, 2020	SYSTEM	\$3,700.29	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0600 -	Total						(\$17,929.92)	
0680	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	13	Dec 16, 2020	camdel1	\$246.47	Retro - Reflectivity Adjustment for Route WW in Stoddard County
			REFL - Total				\$246.47	
	Other Item Adjustment - Total						\$246.47	
0680 -	Total						\$246.47	
0690	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P	Other Item Adjustment	REFL	13	Dec 16, 2020	camdel1	\$115.36	Retro - Reflectivity Adjustment for Route WW in Stoddard County



				_		-		
Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
0690	BEADS	Other Item	Туре					
		Adjustment	REFL - Tota	al			\$115.36	
	Other Item Adjustment - Total						\$115.36	
0690 -	Total						\$115.36	
0750	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Material		5	Jun 16, 2020	SYSTEM	(\$380,306.35)	
	LEVELING)			5	Jun 16, 2020	SYSTEM	\$380,306.35	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user knighn1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Other Item Adjustment	ACAD	5	Jun 16, 2020	knighn1	(\$16,975.27)	AC Adjustment Tabulations on file in eProjects.
	LEVELING)			9	Aug 17, 2020	camdel1	(\$0.08)	AC Adjustment Tabulation on File in E-Projects Route A in Ripley County June 12th
			ACAD - Tota	al			(\$16,975.35)	
	Other Item Adjustment - Total						(\$16,975.35)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	5	Jun 16, 2020	SYSTEM	\$1,930.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) overridding Payment Estimate Exception 5 on the current Payment Estimate.
				5	Jun 16, 2020	SYSTEM	(\$1,930.50)	
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0750 -	Total						(\$16,975.35)	
0760	TACK COAT Overrun	Overrun	Overrun	5	Jun 16, 2020	SYSTEM	(\$735.63)	
				5	Jun 16, 2020	SYSTEM	\$735.63	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user knighn1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$735.63)	
				9	Aug 17, 2020	SYSTEM	\$735.63	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user camdel1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		Overrun - Total				\$0.00		
	Overrun - Total						\$0.00	
0760 -	Total						\$0.00	
0860	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment		11	Nov 1, 2020	camdel1	\$152.71	Retro- Reflectivity Adjustment
			- Total				\$152.71	
	Other Item Adjustment - Total						\$152.71	
0860 -	Total						\$152.71	
0870	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment		11	Nov 1, 2020	camdel1	\$339.82	Retro- Reflectivity Adjustment
			- Total				\$339.82	
	Other Item Adjustment - Total						\$339.82	
0870 -	Total						\$339.82	
0920	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	Construction Stockpile		1	Jan 16, 2020	SYSTEM	\$6,136.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	(NEGOLAINING CORD)			2	Apr 2, 2020	SYSTEM	(\$6,136.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0920 -	Total						\$0.00	
0930	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		1	Jan 16, 2020	SYSTEM	\$6,040.00	Payment Estimate Item Adjustment generated Stockpile Transaction



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0930	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	2	Apr 2, 2020	SYSTEM	(\$6,040.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
0930 -	Total						\$0.00	
0970	MISC. END POST MODIFICATION	Material		3	Apr 15, 2020	SYSTEM	(\$19,045.72)	
				3	Apr 15, 2020	SYSTEM	\$19,045.72	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0970 -	Total						\$0.00	
0990	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE	Material		5	Jun 16, 2020	SYSTEM	(\$121,015.65)	
	LEVELING)			5	Jun 16, 2020	SYSTEM	\$121,015.65	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user knighn1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	5	Jun 16, 2020	knighn1	(\$5,149.92)	AC Adjustment Tabulations on file in eProjects
				6	Jul 1, 2020	camdel1	(\$8,120.62)	Route E in Ripley County
			ACAD - Tot	al			(\$13,270.54)	
	Other Item Adjustment - Total						(\$13,270.54)	
0990 -	Total						(\$13,270.54)	
1060	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment		11	Nov 1, 2020	camdel1	(\$57.04)	Retro- Reflectivity Adjustment
			- Total				(\$57.04)	
	Other Item Adjustment - Total				(\$57.04)			
1060 -	Total						(\$57.04)	
1070	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment		11	Nov 1, 2020	camdel1	\$269.44	Retro- Reflectivity Adjustment
			- Total				\$269.44	
	Other Item Adjustment - Total						\$269.44	
1070 -	Total						\$269.44	
1130	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	8	Aug 3, 2020	knighn1	(\$36,006.75)	AC Adjustment Tabulations on file in eProjects. Asphalt placed between 7/16 - 8/1 on Rte H, Stoddard/Dunklin Counties. J9S3437
			ACAD - Tot	al			(\$36,006.75)	
	Other Item Adjustment - Total						(\$36,006.75)	
1130 -	Total						(\$36,006.75)	
1170	CONSTRUCTION SIGNS	Material		7	Jul 16, 2020	SYSTEM	(\$3,132.00)	
				7	Jul 16, 2020	SYSTEM	\$3,132.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user knighn1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		- Total	- Total			\$0.00		
	Material - Total						\$0.00	
	CONSTRUCTION SIGNS	Overrun	Overrun	10	Oct 2, 2020	SYSTEM	(\$2,058.00)	
				10	Oct 2, 2020	SYSTEM	\$2,058.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilkem1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				11	Nov 1, 2020	SYSTEM	(\$2,058.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
1170	CONSTRUCTION SIGNS	Overrun	Overrun	11	Nov 1, 2020	SYSTEM	\$2,058.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				12	Nov 16, 2020	SYSTEM	(\$2,058.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				12	Nov 16, 2020	SYSTEM	\$2,058.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1170 -	Total						\$0.00	
1210	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	13	Dec 16, 2020	camdel1	\$628.85	Retro - Reflectivity Adjustment for Route H/Dunklin County in Stoddard County
			REFL - Tota	al de la companya de	1		\$628.85	
	Other Item Adjustment - Total						\$628.85	
1210 -	Total						\$628.85	
1220	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	13	Dec 16, 2020	camdel1	(\$123.01)	Retro - Reflectivity Adjustment for Route H/Dunklin County in Stoddard County
			REFL - Total				(\$123.01)	
	Other Item Adjustment - Total					(\$123.01)		
1220 -	Total						(\$123.01)	
1240	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	Overrun	Overrun	8	Aug 3, 2020	SYSTEM	(\$4,727.57)	
				8	Aug 3, 2020	SYSTEM	\$4,727.57	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user knighn1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	(\$4,727.57)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				9	Aug 17, 2020	SYSTEM	(\$1.06)	
				9	Aug 17, 2020	SYSTEM	\$1.06	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user camdel1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				9	Aug 17, 2020	SYSTEM	\$4,727.57	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user camdel1 overridding Payment Estimate Exception 6 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
1240 -	Total						\$0.00	
5301	MISC. Permanent Aggregate Edge Treatment	Material		6	Jul 1, 2020	SYSTEM	(\$36,474.62)	
				6	Jul 1, 2020	SYSTEM	\$36,474.62	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user camdel1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
5301 -	Total						\$0.00	
5302	BITUMINOUS FOG SEAL	Material		6	Jul 1, 2020	SYSTEM	(\$7,340.00)	
				6	Jul 1, 2020	SYSTEM	\$7,340.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user camdel1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
5302 -	Total						\$0.00	
-	III - Total						(\$126,012.68)	